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ASA SAEX A4 26,200+ 1580X
ZHACIFHIOIEEZ I EH 90,0003
SHS2I] 100,000 * 104
HEIE(3M) 15,0003 =44 60,000
AZIHAN <KEASHEH> 51,678,000
- X2l&lE& 1081%660,000 6,660,000
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&N

<X &> ? )
o = %1?121’:?%—,“ (XaI E% s(a & &8 2 N (29 - &
2 & = (A) (8) (A - B)
AlZor) - QEXPIAG 1051 %684,000%! 6,840,000
S EIPNES 95/198,000&! 1,782,000
S 2 A A 551%756,000! 3,780,000
CAAIQEAS 351%378,000& 1,134,000
TelMABEY 720,000%28 ] 1,440,000
CFRlABA E20|RE DieEe 747,000
ZCSACYOIA  23%234,0002 468,000
HI D4Rt A 2 125]+378,000& 4,536,000
MDA O3 @ ADEY| 720,000
M5ist 9 AlE 33%477,0002 1,431,000
CAIZQI MBI AE  43]+792,0002 3,168,000
CAER SN 125]%144,000! 1,728,000
AN B M 8 Y A BI65] %207, 0008 1,242,000
EEE PN 1081%927, 000! 9,270,000
- AIZ 0| M S5 Al E45] %567, 0002 2,268,000
AlZSist U A 53%666,0002 3,330,000
Horst 9l AIE  23]%567,0002 1,134,000
Sornt -9t HIEHIOI Z 107H%2,200 22,000
- 10JH32,000 320,000
-2 2T 39H*50,000 150,000
i} E YA ST R
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Jo
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b

Jo

Ofl & of
(A)

d4dc
Ol &F 4

B(a)

(A - B)

& & 2 A (29

g
]
[

M0
ra
0
HL
&

FFEANSD

FIAI|F, OIZet S(40,000&+17¢)
BEoH Y, &, UER(35,000&+35F)
EYURH ALY, SEAUA S
flHz & Jl=
SUASTFE(5,000& x5 4«10 )
a5 2248 ME 2gdl 560,000
- 3CD : R700JH+800&

S HESE 0 AE 1455 %100,000&
TZHAEHA DVDHICI2

-8 Z=20F 1001+50,000&

2 EHZ0F 100H+50,000&

ZAF ¥ XIZ2&F (1,390,000)

XIS =4l 20,000%400H

X1 &3 AHHI(WLSC-1V)

IS ZICHEIOIE 4J48H8Z*10,000

D

TESHl  5IHEH6E*428]%30,000
SAZX MEX 208 A*26,000
AE Xl 15 box * 26,000

>
ills

o UE/RIZBE EH

- 3 set x 230,000

680,000
1,225,000
350,000
2,004,000
250,000

560,000
4,500,000

500,000
500,000

800,000
590,000
320,000
500,000
3,600,000
520,000
390,000
690,000
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<X &> A EH)
2 & = A | 8 (A - B) ) S

ZREANST Y ¥ 2 HEX Software & HI 2,100,000
- PCHIY 52 = 40,000
- HICI2AY 302 * 50,000
- psp umd 10& = 40,000

HA#EEI 38 SASK A4 58 A+26,000 130,000

CIHUAEEL SAS X (HZ001-A4):16Box*26,000 416,000
20VD-R:10IH*1,600& 16,000
3CD-R:5071*1200& 60,000
S ALEXI(B4) : 1Box*38,000& 38,000
At (CLP-600NG) & 21 E 4 :2Set*310,000% 620,000
HP(8150N) & U : 294 %230, 000& 460,000
HP(Laser jet 22000N):2JH*120,000& 240,000
el A (2200) 2 4 E 4 1 1Set*300,000& 300,000

IHEACIXteIE BSAE A SHI(647,540)
- MEX 45,800
- 2&otE 150,000
- ASATZRIHYT ¢ EY 297,300
- YotE (120H9) 154,440
1810 A ASHZHI(4,517,700)

CIXol o=

- ZAEHZeH (W 100H/ B 100H) 79,200
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<Xl &> (&1 @ &)
n’ 2 20128 | & @ & =E(A)2
- Ol &F o | Of & o & & 2 A (g9 &)
= g = (A) (8) (A -B)
HECIXRIE - ZEXAE AEEHH| (202+20,0008) 400,000
- ArECIRQIYN (400 ) 308,000
HEATHUS
- H/0HR AEFEER 128 600,000
TEY=
- JEX
White 5R 330,000
Brown 5R 704,000
Yellow 5R 110,000
- X
&3 White 2R 110,000
&3 Black 2R 110,000
OFAF Black 1R 88,000
- ctelol
GC1930 5M 253,000
GC143 3H 225,500
- S24T 40y 600,000
- AERIM 600,000

28| AEASIHEHI(7,339,000)
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<X &> A EH)
n’ 2 20128 | & @ & =E(A)2
- Ol &F o | Of & o & & 2 A (g9 &)
= g = (A) (8) (A -B)
IHECI Xl 2 White 2R 132,000
Brown 3R 352,000
- 22
HEEE 120y 569,000
30~ 400y ,100,000
20== 400y ,276,000
ST 450,000
- AERIM 460,000
ASINE/HAL=
- HEXHS HMHETMEHl 5 ,500,000
-DP A&7 ¥ WE 65X ,500,000
PERAUMA SES(AIET): 10box*66,000 660,000
222 (HSE): 10kH*275,000 275,000
Ots0l=CIxZ 28 2,297,500
ME=XN4E 200Z*800 160,000
CIZOIA A2t et KI4& (116g)  300& *400 120,000
A4(116g) 500%*180 90,000
LetHO0IEXI4E (178g) 500& *560 280,000
16& (178g)  300&*380 114,000
A4(178g)  500&*210 105,000
StEEe4 150mm 2JH*12,500 25,000
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<N=> (&9 : Q)
n’ 2 20128 | & @ & =E(A)2
- O]l & o | Off & o4 & & 2 H (99 &)
= g = (A) (8) (A - B)

Ots0l=CIX 100mm 4J4%9,300 37,200
50mm 8l *6,750 54,000
3M PESEHIOIZ 508 +3,500 175,000
2ct StEAE 100JH*145 1,450
@Y 1009145 1,450
222A0) 200 *4,120 82,400
222A(X) 2001 *6,250 125,000
22 () 10074 =80 8,000
S2HA(KX) 10004 %220 22,000
HIIS0t=2 22 (6412ml )50set*4,500 135,000
2AESE 2J4*150,000 300,000
25 = (4GB) 1243 x38,500 462,000

1801 1,499,000
SHELE 5T 150& 3,600 540,000
FZetkl 43 300&*300 90,000
16& 300&*180 54,000
=2 1007 =400 40,000
OFAAHOIZ (22H) 80JH*2,350 188,000
(83d) 2001*2,350 47,000
SO0ZE A 1.0mm*8M 50JH 1,000 50,000
SO0 E A 2.0mm*16M 5001 *5,000 250,000
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<N=> (&9 : Q)
n’ 2 20128 | & @ & =E(A)2
- O]l & o | Off & o4 & & 2 H (99 &)
= g = (A) (8) (A - B)

Ots0I=CIA LTHAH AN A 500m| 3001*8,000 240,000

2s8tJ] 1,553,500
AMOS < Z25g 52t%12,600 63,000
=53 E36g 100JH =800 80,000
749 10098 *1,200 120,000
ESEE80g 50JH*800 40,000
ASTOPPEIAHIOIZ (&) 50JH+1,300 65,000
ASTEOIZHHIOI Z12mm  30Z+800 24,000
16mm  30Z+1,000 30,000
25mm 30 +1,200 36,000
50mm 30 +2,000 60,000
ASTOFAZIEIOIZ (Ol 44) 18mm 505 *1,200 24,000
50mm 50&+2,700 54,000
A THSESET 90JH 3,000 270,000
SAIE 5091 *550 27,500
22 3T007(2 ) 10SET*28,000 280,000
222 3T7009(2et) 10SET=38,000 380,000

OICI20Z2 HII2tE R=2(1,139,100)

- &0 Bl E 13 *44,000& 44,000
~SHAl 1 80,000& 80,000
-ZHI &0l 12+30,000& 30,000
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<K@ CLEREY
ot 2 20128 | & @ & (A2
: of & & | o £ A & & 2 (29 Q)
2 & = (A) (8) (A - B)

OICIOI=0IZ -~&2& 2 12%48,0002 48,000
-2 SUl 12%40,000& 40,000
-2S A 1R%52,000& 52,000
-HIEAI A 12%48,0002 48,000
-AlE 12%40,0002 40,000
-2 E¢ct 12x36,000& 36,000
-OFAIOF 12%45,0002 45,000
-SH8I9132 12+80,000& 80,000
-R4 12%50,0002 50,000
-HIAI Sl 28 123%48,000& 48,000
-SHAIS 12%100,0002 100,000
-st=28 12%40,000& 40,000
-20S 12+26,000 26,000
-EA4E 20X X 12+36,0003 36,000
-SMNEE 12+85,500& 85,500
-E244 13x25,600& 25,600
-2 12%100,0002 100,000
-28Ate 12%85,000 85,000

S AHEXI(2,434,000)
A4S Xl 902 A %26,000& 2,340,000
-B4E Xl 29t A+47,000& 94,000
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<N &> A HA)
o = %1?12?5—,“ EI E% s(a & &8 2 N (29 - &
= & = (A) (8) (A - B)
OICIOI201Z = AAEL(690,000)
-8150 DN(C4182X) 3EA*230,000 690,000
AZICIXEQIZ <181D] 20,140,900>
~Z2ItS 13074%12,500 ,625,000
-2I+A 1302H%17,500 ,275,000
-Jb2! 1307H*2,300 299,000
—=H 130JH*1,500 195,000
~AFZE 1307H*2,200 286,000
—MI2HS AFZ Al 130JH*350 45,500
~XIH 1307H%950 123,500
—©Z 250JH%700 175,000
-OHS=2ZE 13074%900 117,000
~CIXHRIHES 130H7,500 975,000
-HEZ 1307H%350 45,500
-HEY 13074%370 48,100
~T AHE 130Xt 2#3,700 481,000
—AAXI = 25074%3,600 900,000
—AHQIE 24 E+5,000 10,000
~AJLXIEI0I 2 500H*920 46,000
-2t} 30cm 130JH*340 44,200
-9 50cm 107H%820 106,600

_63_




N - AZE G

&N

<Xl &> f . HMAH)
ot = %1?125_45 oaﬂ E % E(A)2 02 o (e 8 e
2 8 = (A) (B) (A - B) - -

AIZCIRtRIE -0t 2 10M E*17,500 175,000

-0t 22 10ME=*25,000 250,000

~MA L 130K E*22,500 2,925,000

-28= 10ME=*11,500 115,000

- AEZ2H 15MIE 50,000 750,000

-SHorCH X 4& 1,400& %300 420,000

-AEX 4& 1,000&*200 200,000

-A4=S ALK BEFA %22 000 110,000

-A3 LAMEZX| 10J4*38,500 385,000

A4 AIAXMMEX 15IH*12,000 180,000

-SA3 LAAMEMEZ X 5J4*31,000 155,000

-A3 L EQISIX 5J4*29,500 147,500

-A4 L EQISIX] 3J0*14,500 43,500

-CD-R 10®*6,500 65,000

-213 T0851 2 40JHi*14,000 560,000

-3 T0852~6 Z 21 80JH*14,000 1,120,000

-USB 8G 130JH*18,500 2,405,000

-USB 16G 157H*32,500 487,500

-2 &3tE 500G 69H*275,000 1,650,000

-8 24| 13%200,000 200,000

<28tJ| 6,621,500>
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<n& (B9 : &)
n’ 2 20128 | & @ & =E(A)2
- Ol &F o | Of & o & & 2 A (g9 &)
= g = (A) (8) (A -B)
AZCIXRIE -A4 AWM EX 1001%12,000 120,000
-A3 A3 M Z X 5I1+38,500 192,500
-SA3 &AM S| 3)4+31,000 93,000
-A3 EEQI3tX] 5J1+29,500 147,500
-A4 ZLEQISLX| 3JH*14,500 43,500
-SelZ e A3 120J1+19,000 2,280,000
-=TH3t Xl 30008*1,950 585,000
-ZSE2E 40001+2,800 1,120,000
-£21 10J0+9,500 95,000
—-CO-R 10Z+6,500 65,000
-3 T0851 =2 40JH+14,000 560,000
-2 3 T0852~6 Z{ 80JH14,000 1,120,000
-8 24l 13/%200,000 200,000
BIAELRO  + 18D]  ( 6,104,350&)
Z g E23 Epson Photo 1290 267,600
Z i 401 x 37,800
S 404 x 29, 100&
ZelE2 3 Epson Photo R2400 396,000
LVK 20K x 22,000&
LM 2JH x 22,000&
MK 20K x 22,000&
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<Xl &> (&9 : &)
o = 2 | 82| 5(a)2 w B o o (@9 )
2 8 = (A) (B) (A - B) - T
EIAEFLRMI  PK 20 x22,000&

LC 2IH x 22,000&
LK 2JH x22,000&
C 2JH x22,000&
M 2JH0 x 22,000
Y 2JH x22,000&
SCD-RW 4set x 11,400& 45,600
=2 YA Z(MONOJ) 237,000
HB 5CHA x7,900&
2B 10CHA x 7,900
4B 15CHA x 7,900
S22 X IH(TOMBOW) = 8set x 1,900& 15,200
2 &GIE 320GB 30 x 89,500 268,500
AEH L2l 8G 5 x 17,1003 85,500
AEXI4E (220g) 1500% x 140& 210,000
BABARAAMIZ (73R-Z) 4000 x 4,300& 172,000
KA 500ml 28 x5,600& 11,200
OF S 224M (=2 4F) 1set x 17,900 17,900
LI2E (X A)42 x 42cm 4000 x 14,300 572,000
A3 (2E=) 800Fx 12,000 960,000
AIJEZA A 90 x 8,000 720,000
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<X &> ? )
o = %1?121’:?%—,“ &]E% s(a & &8 2 N (29 - &
2 & = (A) (8) (A - B)

BIAEIQRH AR Z2tAE MEE 5004 x 2,000 100,000

2o 474 x 10,0002 40,000

2P EA42AAEIBE10x 15¢ 4074 X 1,5002 60,000

2 PR 500g 54 x 75,0002 375,000

S0l 1,367,850

533White 35 x 11,000&

BaseCoat303L 2& x 11,000&

BaseCoat 1070 1& x 11,000&

IO LY =2 EF 194 1set x 60,500
CrackleBase1006%H 4 £ £ H2JH x 9,900
Crack|eBase2008 44 £ H2JH x 9,900
CrackleBase19972Z H £ 5201 x 11,000
P-1 Overglaze Black 1JH x 11,000&

P-3 UnderglazeBlack 1JH x 11,000&
Etching 17 x55,000&

C-4 100g 194 x9,900&

LTK-1 1244 2set x 33,000&

Gold-Pan 174 x 38,500&

AeHS 104 x77,000&

=IH3t 171 x 66,000

Underglaze 1JH x 49,500
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(A)

d4dc
Ol &F 4

B(a)

(A - B)

& & 2 A (299 : H)

Grisaille #1990(80mesh) 17K x 11,000&
Grisaille #1040(150mesh) 174 x 13,200
Grisaille #1030(325mesh) 171 x 6,600&
Grisaille #1040(325mesh) 11 x 6,600&

Iz

HE 104 x99,000&

THOILHEY 500 x 5,500&
BIUIXIOt=r e g, & M2EF x 36,3002
SHIEHE 208 x 13,2002

SAH0IEEZF 171 x 462,000
=S H ALK 1set x 36,300

4m

YR HAH ALK 190 x 6,600

SEAUNLE 1set x 4,400

T

dojelott® £ 14 x5,500&
goclotd =538 104 x5,500&
dojelotte #

=7z JE 101 x3,300&

RIIE 194 x5,500&

S7E BEE 11 x3,850&
AbA 501 x 27,000

LPG

= 2801 (1 292,0002 )

X (HR) 500& 3RS x44,000&

135,000
48,000

132,000
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<n& (B9 : &)
ot 2 20128 | & @ & (A2
: of & & | o £ A & & 2 (29 Q)
= g = (A) (8) (A -B)
ElAELARO LAAEX/301 42 80F x2,000& 160,000
FIelCIAe = 18D (8,276,800 )

SHEMA 404+2,500& 10,000

&0l 5I1+5,000& 25,000

MBI 5JH+3,000& 15,000

ENECH 45J4%29,700& 1,336,500

At ER 0.31H01 3kgx77,000& 231,000

Ayt Z & 0.51H01 3kgx55,000& 165,000

g 2c& = 110l 3kg*330,000& 990,000

E§=2d& = 30l 3kg*hb5,000& 165,000

CIHFOI 90JH=3,300& 297,000

NS BHAIZ 100H+12, 100& 121,000

A&s 2WE 8I1+132,000& 1,056,000

& =2 300H%9,900& 297,000

Z 4 4501+6,600& 297,000

LS 2 X 2000+2,750& 55,000

2AAEY 3001+5,500& 165,000

SHEBHOIA 4501+5,500& 247,500

ZHOIXI 20JH*5,500& 110,000

=2II &= 90H+1,650& 148,500

= HNOIEHAI(HEZ) 90I+1,100& 99,000
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<N=> (&9 : Q)
n’ 2 20128 | & @ & =E(A)2
- O]l & o | Off & o4 & & 2 H (99 &)
= g = (A) (8) (A - B)

FLelCXe EsSBA(ME=L) 90I1*1,320& 118,800
b2 R A 105+8,800& 88,000
ST 1%200+«300mm 90JH+11,000& 990,000
S A2S 8+8+x150mm 180JH*1,650& 297,000
2HOFXl A4 90 *1,050& 94,500
M ZROtA 3 9322 180913, 750 675,000
*25tJ| (3,400,000 )
SAICH 2 Ot=2E 209H%170,000& ,400,000

HARA= HILIA WE(3.3M):10J1%88,000 880,000
HLIA AZXI2(6912):1001+38,000 380,000
EISHHE(Z):10J1+31,900 319,000
El 2 340J1 #5500 220,000
HILIAZ (&) :50000%1300 650,000
HILI A3 (A& ) 240043900 936,000

SMHE=Z A4E X 15Box * 26,000 = 390,000 390,000
HAAAHE= WE F2H| ,500,000
dvd 10& * 50,000 = 500,000
tape 102 = 50,000 = 500,000
& Xtz 102 = 50,000 = 500,000

SOlNEN <SHFEASHD> 27,680,000
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<Xl &> f . HMAH)
2 8 = (A) (B) (A - B) - -
Ot =1 *AIMA&(5,680,000)

-AS52UX 1602 *x5,000& 800,000
TS 60R+*2,000& *23] 240,000
A SN QHX|0F 16000 *25,000& 4,000,000
-aAlsM HE 160H*4,000& 640,000
* R AE(9,340,000)
-AS X 1602 *15,000& 2,400,000
-REYSE 60R*2,000&*23] 240,000
-&2H|l 602%50,000& 3,000,000
-SXIAJH2HEF 6022+25,000& 1,500,000
-Qc2lAHOl& ZAHl 22 %200,000& 400,000
-Z=3| XN &E WSHl 60=2*10,000& 600,000
-& & X & Hl 602+10,000& 600,000
- I3 Hl 6022*10,000& 600,000
*S 02tz 2 Al (3,320,000)
-AE52UX 1602 *x5,000& 800,000
-HEgsE 3022+2,000& 60,000
-&2H| 3022+50,000& 1,500,000
-AlsM HE 160Y*4,0003 640,000
—ASM 2HESF 160E 2,000 320,000
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Jo

Ofl & of
(A)

d4dc
Ol &F 4

B(a)

(A - B)

& & 2 A (29

SOotusn -z 160&+15,0003

-RELS 602+2,000& <23

&
Mo
=5
D
o
>H
>*

50,000&

eI ZBAIEE2tE 3l 602+25,000&
Ol ZrAtHl 22 %200,000&

I& wsSHl 602+10,000&

= Hl 60=2+10,000&

=
O
(=]
e
0
>
lfs
==
)
i
i
o
S

QI HI (1405 *5,000& )
2 S HI (5090 X+ 18] %2, 4008 )

_|
]

SEASHEHSIHI (150,000 +2)

EFEN W=EAE(5,390,000)
-A S X5l 4504 %10,000&
- =X £ HI-28 :38*6A1 210,000

Hl: 4501 X 50,000

=
- EHl: 45JH X +10,000&

2,400,000
240,000
3,000,000
1,500,000
400,000
600,000
600,000
600,000

500,000
2,500,000
500,000
500,000
700,000
120,000
300,000

450,000
180,000
2,250,000
450,000
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o = %1?12!:[??—,“ &]E% s(a & & 2 H (99 &)
= & = (A) (8) (A - B)

YLD -BOHHI-18: 444X *10,000 440,000

~BOHH|-25 10§ & * (83 *50002 ) 415,000

—QIMHI-A S LR : 2002 +4,0002 800,000

—QBEH|: 25008 %4500 K *23] 225,000

~2 Al Y ADEH|:180,0002 180,000

FE=EXN 2=24EH1(10,300,000)

-« 24l : 1009 X *50,000 5,000,000
-=3| X%, WS, BItHl: 10090 X 30,000 3,000,000
-SEZ : 1004 X *2,000& 200,000
-QI24Hl : 1602 %10,000 1,600,000
-XtZ el bl 500,000

ArSI 2 X8 & A S (15,560,000)

- &=Hl 1 80IHX 50,000 4,000,000
- SHMAISXIAH] 1708 40,000 6,800,000
- =3l N&, ws, "Itdl :8070 X *30,000 2,400,000
- 2EZ : 80IHX~*2,000 160,000
- QI4Hl : 170& 10,000 1,700,000
- M= oIl 500,000

AL E S A SHI(11,230,000)
- EH1:15J0 X *50,000 750,000
St A & X3 Hl :190%40,000 7,600,000
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<N &> A HA)
n’ 2 20128 | & @ & =E(A)2
- O]l & o | Off & o4 & & 2 H (99 &)
= g = (A) (8) (A - B)

NESXNY =3 XNE, 1S, Il 1590 X *30,000 450,000
-T2 1590 H*2,000 30,000
—QI4H]: 190z *10,000 1,900,000
-X 2014t 500,000
SEA RS &I4(3,240,000)
~8 A ALE 3] & Ot 1002 *33] *10,000 3,000,000
-0l ¢ 3% #33]%20,000 180,000
-ZWOIEH| : 2H+33]%10,000 60,000

IHECIXtRIZ - & A& (5,280,000)
- 23| XS Hl 6074 *10,000 600,000
- &&HI 604X *50,000 3,000,000
- WEH| 6074 *10,000 600,000
- EOtHl 604X *10,000 600,000
- UXIQI4HHl (1208 #4,0008) 480,000

fEAIMA =Gl 60H*50,000 3,000,000
2T |, 11 :60Y%23|%50,000 6,000,000
=& AI:608 60,000 3,600,000

OrsS0I=Cx BEs4E
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OVD: 400 *25,5002=10,200,000% 10,200,000
e-book 4003 *50,000&=20,000,000& 20,000,000
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N - KIE GlaA

<X &>
In; 2 2012E: | & WH % =(A)2
2 & g 0“(%)0_‘“ 0“(%})_1 (A - B) s = el (G
1319 A& IHAHIE 2,000,000 7,525,000 | 45,525,000
2el ALINAF> AR = A 2,000,000, 000
Xtol olg X3 510,885| 2,595,856 | 42,084,971
=2 X &ESA 25,080,121 32,614,603 | A7,534,482
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